ITI Refrigeration and Air Conditioning Technician 1st Year Module 2
Electrical and Electronics

(1). What is the name of component used in electronic circuit?

(A) Diode

(B) Capacitor
(C) Transistor
(D) Resistance

Correct Answer : B

(2). What is name of the part ‘X’ shown in the figure? | ICEE:| fGGTT T YT ‘X’ Bl




(A) Increases | I
(B) Coil | Bigd

(C) Diode | SIS

(D) Transistor | CifoRex

Correct Answer : B

(3). What is the function of permanent magnet in an energy meter? | Solt Hiex
A Tt g BT AT HE 77

(A) Acts as a brake to the disc when the load is 'OFF’ | s ’GIEIJ'Q'T’@%[W%W
R IF & TUH B Hdl o

(B) It helps the disc to move when load is ‘ON’ | a‘s’?ﬁe’ '&ﬁq'aﬁu?%wﬁ
e § Aeg Hdl &

(C) It reduces the friction error | waﬁwgﬁﬁmw%
(D) It gives path for the magnetic flux | I8 ﬂGIOI‘Jan Udle %ﬁﬁ«mwé‘cn%

Correct Answer : A

(4). What is the effect in DC generator if it is kept ideal for long time? | Zﬂ% DC
SRR Bl e THY deh 3SR IWT WY ol STH T UHTd USdT 82

(A) Field coil resistance increases | qﬂ@'ﬁwqﬁfraa‘éw%
(B) Armature resistance increases | &quﬁﬁam%

(C) Increase the armature reaction | mmm

(D) Looses its residual magnetism | 3{U-I WW@W%

Correct Answer : D




(5). How the batteries are connected in the circuit to increase the output current?

3

l ] '
_ |+ 1+ _ 1+

2 v = -} = ] T
2V 2V 2V
‘ Q » .

(A) Series

(B) Parallel

(C) Zigzag

(D) Alternate poles

Correct Answer : B

(6). What is the unit of electric current?
(A) Ampere

(B) Farad

(C) Ohm

(D) Volt

Correct Answer : A

(7). What is the reason for washing copper sheets after soldering? | QSN
e HIWR e & BT T HRUT g2

(A) To prevent corrosion | ﬂWﬁW%%’Q



(B) To promote corrosion | G&I'ITUTﬁWTa:IT
(C) To promote oxidation | WﬁWﬁ%%’Q
(D) To promote wet surface | Tt ddg P deld] ﬁ%ﬁ‘lﬁ

Correct Answer : A

(8). Which law relates to voltage, current and resistance in an electrical circuit?
(A) Ohm’s law

(B) Lenz’s law

(C) Newton’s law

(D) Faraday’s law

Correct Answer : A

(9). What is the value of resistance as per colour codes?

ORANGE RED SILVER

i
N

i

ORANGE

(A) 2K3Q+5%
(B) 3K3Q+10%
(C) 4K3Q+15%



(D) 5K3Q+20%

Correct Answer : B

(10). Which type of material resists the flow of electrons? | fPgupR &t

ARTd SAaei! & UdTe & faRIY &l g2
(A) Conductor | HEFR

(B) Insulator | sﬁﬁa

(C) Semi conductor | A Hesdex
(D) Transistor | ET%IET

Correct Answer : B

(11). Which semiconductor material is used to make diodes?
(A) Steel

(B) Silicon

(C) Copper

(D) Aluminium

Correct Answer : B



(12). What is the name of instrument used to check high resistance?

(A) Megger

(B) Ammeter
(C) Voltmeter
(D) Wattmeter

Correct Answer : A

(13). Which power supply has the fixed polarity?
(A) Direct current

(B) Signal voltage

(C) Signal ripples

(D) Alternating current

Correct Answer : A

(14). Which property limits the flow of electrons in an electrical circuit?
(A) Voltage

(B) Current



(C) Resistance
(D) Conductance

Correct Answer : C

(15). What is the name of active component used in electronic circuit?

(A) Transistor
(B) TRIAC
(C) DIAC

(D) SCR

Correct Answer : A

(16). How many types of solder are available? | fhd TR & Fice: dqms‘d%?
(A) Two | Gl

(B) Three | GIG!

(C) Four | dRR

(D) Five | U

Correct Answer : A



(17). What is the name of component used in electronic circuit?
TO-92

(A) Zener diode

(B) Vacuum tube
(C) Transistor

(D) Voltage regulator

Correct Answer : C

(18). Which component these symbols represent?

o A

(A) Motor

(B) Relay
(C) Capacitor
(D) Overload protector

Correct Answer : C

(19). Which application uses the digital ICs?



(A) Amplifier

(B) Logic gates

(C) Tuned circuits
(D) Voltage regulator

Correct Answer : B

(20). Where system earthing is done? | FRIeH T HET ! ATt 82
(A) Generating station | SFRICIT TR

(B) Electroplating installation | sﬁ?ﬁj@ﬁﬂémé&lﬂ
(C) Small industrial installation | agaﬁ?ﬁm Q'EI@IQIH
(D) Domestic wiring installation | SHRe®H TR Q'Elasil:l

Correct Answer : A

(21). How the maximum reverse voltage across the diode is termed in reverse
biased condition?

(A) Diode voltage

(B) Ripple frequency

(C) Peakinverse voltage

(D) Peak rectification voltage

Correct Answer : C



(22). What is the name of part marked as X in a gimlet?

x

(A) Shank
(B) Flute
(C) Handle
(D) Feed screw

Correct Answer : D

(23). Why system earthing is different in utilization than equipment earthing? |
Rrzen aiff IugivT & Iuwmur siffn § v i g2

(A) It protects human only | agnm&"réﬁ&nm%

(B) It protects from all circuit faults | agmﬁaﬁzﬁu‘r@rm%

(C) Itis associated with current carrying conductor | g WW%HWEH@[
$H8dex U ST Bldl §

(D) Itis connected to the non current carrying metal work | H’s’ﬁ? WEIGT%H
U S A ST 8

Correct Answer : C

(24). How electrons flow in a battery circuit?
(A) Phase to earth

(B) Phase to neutral



(C) Positive to negative polarity
(D) Negative polarity to positive polarity

Correct Answer : D

(25). How the ability of a conductor is called if it induces the voltage in the same
conductor?

(A) Self inductance
(B) Conductance
(C) Capacitance
(D) Resistance

Correct Answer : A

(26). What is the name of component?

TO-05
oD aD
- G G )
oS oS
(A) SCR
(B) FET
(C) DIAC
(D) TRIAC

Correct Answer : B



(27). What is the use of component?

——a7)

(A) Limits current

(B) Regulates voltage
(C) Matches impedance
(D) Increases reactance

Correct Answer : A

(28). Which operation is in progress with capacitor?
100 OHMS, 10W

(A) Testing

(B) Cleaning



(C) Charging
(D) Discharging

Correct Answer : D

(29). What are the passive components used in electronic circuits?
(A) Resistors, capacitors and inductors

(B) Transformers and semiconductors

(C) Semi conductors and transistors

(D) Transistors, diodes and SCRs

Correct Answer : A

(30). What is the name of component?

{a)
(A) Transistor
(B) Capacitor
(C) Inductor
(D) Resistor

Correct Answer : C



(31). Which type of soldering is used for straight joints? | e Gll@ |$1%|EW
THR D1 WIS BT IUTINT fohdT ST 82

(A) Square point soldering | WUV'I%_C' e N
(B) Hatchet soldering | %ﬁ?él@li‘l
(C) soft soldering | e QIS T

(D) Hard soldering | B'I_Stél@lill

Correct Answer : B

(32). What is the load resistance in an electrical circuit, if current, | =2 amp and
supply, V=10 volt?

(A) 2 ohms
(B) 3 ohms
(C) 4 ohms
(D) 5ohms

Correct Answer : D

(33). What are the active components used in electronic circuits?
(A) Transformers and inductors

(B) Transistors, diodes and SCRs

(C) Semi conductors and transformers

(D) Resistors, capacitors and inductors

Correct Answer : B

(34). Which material is used for making zener diode?

(A) Lead



(B) Silicon
(C) Titanium
(D) Platinum

Correct Answer : B

(35). What is the value of pico farad used in capacitor? | %aﬁaﬁugaaﬁﬁ
IS BT H 7 82

(A) P=107°farad
(B) P=107"°farad
(C) P=10"farad
(D) P=10""*farad

Correct Answer : D

(36). What is the values of frequency in AC supply in India? | HRA H AC Gﬂ"lﬁﬁ

3T BT HH 182
(A) 30 Hz
(B) 40 Hz
(C) 50Hz
(D) 60Hz

Correct Answer : C

(37). What is the reason for increase in conductivity of a semi conductor? | T
Heaex DI ATl ®I6_5:| D K[ hRU] %?

(A) High temperature | 3= dIUHIT

(B) Low temperature | e[ dTUHIH



(C) High resistance | I UfeRIY

(D) High conductance | 3™ dlicdichdl

Correct Answer : A

(38). What is the reason for mounting metal chassis on high tower transistors? |
3 TR TifoTe’ R Hed ARy TTH &1 3T HIRUT g7

(A) To remove heat | THI R @R & fe1g

(B) To reduce frequency | 3TgfI HH & & g
(C) Toimprove power | UlaR T YUR H3A o forg

(D) To improve signals | FITT B! S8 I & @

Correct Answer : A

(39). What is the error if the energy meter disc rotates continuously on no load? |

g Sorl Hiex few fomT dle & AR gHd! § df R e gid 62
(A) Speed error | Fﬁ‘s"a’%

(B) Phonic error | Wifa 3

(C) Friction error | TYUT &

(D) Creeping error | ShITGT FfC

Correct Answer : D

(40). Which type of diode is used for communication circuits?
(A) Signal diode

(B) Zener diode

(C) Rectifier diode



(D) Switching diode

Correct Answer : A

(41). What is the supply voltage if a current of 2 ampere flows through 10 ohm
resistor in a circuit?

(A) 20 Volt
(B) 45 Volt
(C) 55 Volt
(D) 65 Volt

Correct Answer : A

(42). What is the symbol used for AC power supply? | AC ﬁ_cgﬂﬁ \’rl'l'cﬂ%f%ﬁ'lﬁ

Ugad Udidh 1 82

(A)

(B)

(C)

>
=

Correct Answer : B

(D)

(43). What is the symbol for resistance? | WHWWW%?



(A)

(B)

(C)

()

Correct Answer : D

(D)

(44). Which component is introduced in the circuit for capacitance? | W%

forg afdhe & & A1 g ST SiTdT 82
(A) Transistor | TifoR&R

(B) Resistor | Y%

(C) Capacitor | HURTER

(D) Diode | STATS

Correct Answer : C

(45). What is the effect of resistance in a resistor when the applied voltage is AC?

| ST§ AR dlecs AC BIdT § al UfoRiee H UfeR1Y o1 o1 UHTd Bidl 82
(A) Increases | §Gd1 8

(B) Decreases | PH Bl Sl &

(C) Does not change | dacldT Hd




(D) Partially increase | &Wg@

Correct Answer : C

(46). What is the method of varying inductance in a coil? | foat gi’JSQ'inl H RS

P ST-3HET H & [AfT T 82

(A) Adjusting the core | HR BT JHATISH

(B) Adjusting the current | PRC I JHTAS
(C) Adjusting the resistance | ORIy &1 e

(D) Adjusting the voltage | dice sl BT JHISH

Correct Answer : A

(47). What is the name of component?

(A) Resistor
(B) Inductor
(C) Capacitor
(D) Diode

Correct Answer : D



(48). Which has the most valence shells of electrons in it? | Wsﬁ?ﬁﬁrm
OISl HIR ey 31 g7

(A) Conductor | HEFX
(B) Semi conductor | I Hedex
(C) Insulator | faTaTg®
(D) Transistor | Q'W

Correct Answer : C

(49). Which material is commonly used for making resistors? | UfeRIY® S &

foTT SR TR oo Arnh &1 SuaT fohan ST 82
(A) Mica | HIRPT

(B) Carbon | BTe

(C) silicon | ffcrmIa

(D) Platinum | fe-TH

Correct Answer : B

(50). Which components is used to introduce resistance in the circuit? | gRoy H

TfeRIY Sd H & oY o gedh ST IUANT fohdlT STl g2
(A) Transistor | TifoT&R

(B) Diode | €[S

(C) Capacitor | BURTER

(D) Resistor | YRR

Correct Answer : D






